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Lö
su

ng
en

(G
ra

ph
en

be
tr

ac
h-

te
n!

),
vo

n
de

ne
n

Ta
sc

he
nr

ec
hn

er
(S

H
IF

T-
si

n/
R

A
D

)n
ur

ei
ne

ze
ig

en
.

L1
03

a
:

W
ac

hs
tu

m
s-

(a
>

1)
bz

w
.

A
b-

na
hm

ef
ak

to
r;

b:
A

nf
an

gs
w

er
t.

E
xp

-G
l.:

1,
02
x

=
0,

25
B

ei
ds

ei
tig

Lo
ga

rit
hm

ie
re

n:
lo

g(
1,

02
x
)

=
lo

g(
0,

25
)

x
·l

og
(1
,0

2)
=

lo
g(

0,
25

)
x

=
lo

g
(0
,2

5
)

lo
g
(1
,0

2
)
≈
−

70

6
y

-
x

b 0

L1
04

P
B

(A
)

=
P

(A
∩
B

)
P

(B
)

Te
ch

ni
ke

n:
V

ie
rf

el
de

rt
af

el
,B

au
m

-
di

ag
ra

m
m

,F
or

m
el

n.
A

A
B B

1

L1
05

H
öc
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